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QUESTION 1

You want to integrate an SRX Series device with SKY ATP. What is the first action to accomplish task? 

A. Issue the commit script to register the SRX Series device. 

B. Copy the operational script from the Sky ATP Web UI. 

C. Create an account with the Sky ATP Web UI. 

D. Create the SSL VPN tunnel between the SRX Series device and Sky ATP. 

Correct Answer: C 

 

QUESTION 2

Users on the network are restricted from accessing Facebook, however, a recent examination of the logs 

show that users are accessing Facebook. 

Referring to the exhibit, 

Why is this problem happening? 

A. Global rules are honored before zone-based rules. 

B. The internet-Access rule has a higher precedence value 

C. The internet-Access rule is listed first 
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D. Zone-based rules are honored before global rules 

Correct Answer: D 

 

QUESTION 3

Which two statements are true about security policy actions? (Choose two.) 

A. The reject action drops the traffic and sends a message to the source device. 

B. The deny action silently drop the traffic. 

C. The deny action drops the traffic and sends a message to the source device. 

D. The reject action silently drops the traffic. 

Correct Answer: AB 

 

QUESTION 4

You want to automatically generate the encryption and authentication keys during IPsec VPN 

establishment. 

What would be used to accomplish this task? 

A. IPsec 

B. Diffie_Hellman 

C. Main mode 

D. Aggregate mode 

Correct Answer: B 

 

QUESTION 5

You have configured a Web filtering UTM policy? 

Which action must be performed before the Web filtering UTM policy takes effect? 

A. The UTM policy must be linked to an egress interface 

B. The UTM policy be configured as a routing next hop. 

C. The UTM policy must be linked to an ingress interface. 

D. The UTM policy must be linked to a security policy 

Correct Answer: D 
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